run_13059014 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA

Tue Feb 28 05:25:27 2012

[ADC for FGT RDO=1,ARM=0,APV=0 }

ADCApeg

[ 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=0,APV=1 }

I
3000 4000
raw ADC

[ADC for FGT RDO=1LARM=0,APV=2 }

i i i
0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=0,APV=3 }

ADC1ged

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=0,APV=4 }

Ik
0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=0,APV=0_}

o 4000 p—
2 =
o =
g 3500 fm— v e e e e .|
i =
3000 fm— v e e e e .|
=
2500 fm— - s s s n s .
=
2000 s e e e e .
=
1500 fm— v v e e e man et o
I -
=
=
5 |==ocozas00050a .
=
=
Of— et -
= i R ; i : :
0 20 20 - i i i
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=1 "}
= 4000 p—
] = . . . . . .
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=2 "}

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
0=
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=0,APV=3 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
b=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=4 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel




run_13059014 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
Tue Feb 28 05:27:26 2012

[ADC MPV for RDO=1ARM=0,APV=0__}

MPV (ADC-ped)

L i i i
Q 20 40 60 80 100 120
APV channel

-500

[ ADC MPV for RDO=1,ARM=0,APV=1 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=2 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120
APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

-500
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=4 "}

MPV (ADC-ped)

APV channel




run_13059014 FGT_RMS_ 1,Timebin=2,Disc=1,asmb=1DA
Tue Feb 28 05:28:00 2012

[ADC RMS for RDO=1,ARM=0,APV=0_ J

RMS (ADC-ped)

r|||||||||||11

[EERERIIIIZ

[ ADC RMS for RDO=1,ARM=0,APV=1 "}

i
120
APV channel

60

50

RMS (ADC-ped)

[ ADC RMS for RDO=1,ARM=0,APV=2 "}

= Ly
54
2 60
Q
a
< i
(%] 50
3
3
40
30
20 z
10 p— -
= .
o = i i i i i i
0 20 40 60 80 100 120
APV channel

[CADC RMS for RDO=1,ARM=0,APV=3__}

60

50

RMS (ADC-ped)

40

30

20

10

°'I'I'I'T[HH|1I11]|II||IHTIHI

20 40

[ ADC RMS for RDO=1,ARM=0,APV=4 "}

i
60 80 100 120
APV channel

RMS (ADC-ped)

20 40

60 80 100 120
APV channel




run_13059014 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA
Tue Feb 28 05:25:30 2012

[ADC for FGT RDO=1,ARM=0,APV=5 } [ ADC for FGT RDO=1,ARM=0,APV=5 |
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

[ 1000 2000 3000 4000
raw ADC APV channel

[ADC for FGT RDO=1,ARM=0,APV=6 } [ ADC for FGT RDO=1,ARM=0,APV=6 }

4000

3500

ADCiged
ADC-ped

3000

2500

2000

1500

1000

500

il |r|1|[|1|r|1|r|]m |rm[|1|r|1m

0

1 I
1000 2000 3000 4000
raw ADC APV channel

[ADC for FGT RDO=1LARM=0,APV=7 } [ ADC for FGT RDO=1,ARM=0,APV=7 }

4000
3500 .-
3000 p- .-
1
2500 .-
2000 -
1500 .- "
10
1000 .-
500 oo .
® -
: : : : 0 10*
= 1 1 1 1 1

ADC-ped

r|1|r|1|[|nr|1|r|]|r|1|rn I| I1II‘|1 T

ili

i i i i
1000 2000 3000 4000 20 40 60 80 100 120
raw ADC APV channel

[ADC for FGT RDO=1,ARM=0,APV=8 } [ ADC for FGT

Py
]

O=1,ARM=0,APV=8_}

4000

3500

ADC-ped

3000

1 H|'I1II'|HI'I

2500

2000

1500

1000

500

0

° nrl]lrn|r|1|[|1|r|1|r|]n|1

0 1000 2000 3000 4000 20 40 60 80 100 120
raw ADC APV channel

[ADC for FGT RDO=1,ARM=0,APV=9 | [ ADC for FGT RDO=1,ARM=0,APV=9 "}
4000

3500

ADOpgﬂ

ADC-ped

3000

2500

2000

1500

1000
500

0

Ik
0 1000 2000 3000 4000
raw ADC APV channel




run_13059014 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
Tue Feb 28 05:27:27 2012

[ADC MPV for RDO=1ARM=0,APV=5__}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=6 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13059014 FGT_RMS_ 1,Timebin=2,Disc=1,asmb=1DA
Tue Feb 28 05:28:02 2012

[CADC RMS for RDO=1,ARM=0,APV=5__}

RMS (ADC-ped)

70

60

50

40

30

20

CECEEEE]
— |

10

IIII|IIII|IIII|IIII Illt

J-OCCCECEEEEERNNIII]

. . ; ;
20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=0,APV=6 }

=

g

[}

a

<

0

=

@

o = . . . . . . i . . . . . . i . . .
0 20 40 60 80 100 120
APV channel
[ ADC RMS for RDO=1,ARM=0,APV=7 }

g [—

g 60

& —

a

<

(%] 50

3

3

40

30

20

[—
10 pB/—---
h—
=
0

i i i i
20 40 60 80 100 120
APV channel

[CADC RMS for RDO=1,ARM=0,APV=8__}

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=0,APV=9 "}

RMS (ADC-ped)

i . . . i
100 120
APV channel




run_13059014 FGT_ADC_1,Timebin=2,Disc=1,asmb=1AB

Tue Feb 28 05:25:34 2012

ADC for

FGT RDO=1ARM=0,APV=12 |}

ADC-ped

3000 4000
raw ADC

1000

[ AoC for

FGT RDO=1,ARM=0,APV=13 _}

2

ADOp&g

I
3000 4000
raw ADC

1000 2000 3000 4000

raw ADC

[ ADC for

FGT RDO=1,ARM=0,APV=15

ADCrged

1000

2000 3000 4000

raw ADC

[ Apcfor

FGT RDO=1ARM=0.APV=16 |}

1000 2000 3000 4000

raw ADC

[[ADC for FGT RDO=1,ARM=0,APV=12 }
= 4000 p—
] =
i =
Q 3500 f— -
< =
3000 f=——
=
2500 f=—1
=
2000 = -
=
1500 f=— |
1000 = -
=
500 f—
=
=
0fE—
=
0
APV channel
[ ADC for FGT RDO=1,ARM=0,APV=13 "}
= 4000 p—
g = 8 8 8 8 8 2
9 3500 f=—
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=0,APV=14 "}
= 4000 p=
] = . . . . . .
2 = 8 8 8 8 8 2
Q 3500 f=— |- - -
< =
3000 f=—|- - -
=
2500 f=—r|- - -
=
2000 f=——|- - -
=
1500 f=——|- - -
1000 p=——|- - -
=
500 :-:— oo
=
o=
= i i i i i i
20 40 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=0,APV=15 }
= 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=——
=
o =
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=0,APV=16 l
= 4000
Q 3500
<

3000

2500

2000

1500

1000

500

0

°Tm]|r|1|r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|1rr|

APV channel




run_13059014 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
Tue Feb 28 05:27:28 2012

[ADC MPV for RDO=1ARM=0,APV=12_}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=13 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=16 }

MPV (ADC-ped)

APV channel




run_13059014 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB

Tue Feb 28 05:28:03 2012

[ADC RMS for RDO=1,ARM=0,APV=12__}

RMS (ADC-ped)

[ ADC RMS for RDO=1,ARM=0,APV=13 "}

i
120
APV channel

a
& 0 B=H
3 r
< H
g s0 BH
x H
]
40 BH
|
oy
30 f——
oy
o
g

20 p—

10 p—

[ ADC RMS for RDO=1,ARM=0,APV=14 "}

APV channel

= —
H o
2 =
8 50 f—
<
0
2 :
&= 40 f—1
i
30 —
=
20 p—ovi
[
10 [
=
0%

[CADC RMS for RDO=1,ARM=0,APV=15__}

APV channel

RMS (ADC-ped)

[ ADC RMS for RDO=1,ARM=0,APV=16 }

1
20 40 60 80 100 120

APV channel

RMS (ADC-ped)
[ Y
c w5 &5 8 B 8 & &8 &
T T T T

APV channel




run_13059014 FGT_ADC_1,Timebin=2,Disc=1,asmb=1AB

Tue Feb 28 05:25:37 2012

ADC for FGT RDO=1ARM=0,APV=17 _§

1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1ARM=0APV=18 _§

L-1i
0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=LARM=0.APV=19
—

ADOzped

1
2000 3000 4000
raw ADC

1
1000

ADC for FGT RDO=1,ARM=0,APV=20

ADCrged

L
0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=1,ARM=0,APV=21 _§

2

ADOpeg

3000 4000
raw ADC

[[ADC for FGT RDO=1,ARM=0,APV=17_J

APV channel

" 1
60 80 100 120
APV channel

= 4000 p—
5] =
iy =
Q 3500 fm—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 f=——
=
500 fm——
=
=
o
= i
0 20
[ ADC for FGT RDO=1,ARM= =18
= 4000 p—
] = 5
& =
8 3500 =
< =
3000 f=—
=
2500 f=——
2000 fm/——
=
1500 f=—
=
1000 P=—
=
500 f—
=
0 f=—
E_. . i
0 20
[ ADC for FGT RDO=1,ARM=0,APV=19
= 4000 p—=
] = 5
2 I= i
Q 3500 = e e e
% =
3000 - - - - - - -
=
2500 = - - - - - - -
=
2000 = -
=
1500 f=—-------
1000 f=—-------
=
500 = e - - - e e
=
() = ST
= i
20
[ ADC for FGT RDO=1,ARM=0,APV=20
= 4000 p—
5] = .
& =
Q 3500 F=—
< =
3000 f=—
2500 &

2000

1500

1000

500

0

60 80 100 120
APV channel

° nrl]lrn|r|1|[|1|r|1|r|]n|1

[ ADC for FGT RDO=1,ARM=0,APV=21 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

40

60 80 100 120
APV channel

APV channel




run_13059014 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
Tue Feb 28 05:27:30 2012

[ADC MPV for RDO=1,ARM=0,APV=17

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=18 "}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=19 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=21 "}

MPV (ADC-ped)

-500

20 a0 0 a0 100 120
APV channel




run_13059014 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
Tue Feb 28 05:28:04 2012

[ ADC RMS for RDO=1,ARM=0,APV=17 |
g 50 f-
a
4}
a
<
o 40 [
=
©
30 |~
20 |
10
0
[ ADC RMS for RDO=1,ARM=0,APV=18 "}
=
I3 80
[}
2 70 =/—
0
& 60 f——
50
40 f/—
30
20 =
10 £
0
APV channel
[ ADC RMS for RDO=1,ARM=0,APV=19 |
g =
& 40 _!'_:
=) =
< =
5 =
E =
« 30 5
2 =
20 E
15 =
10
5
= i i i i i i
0 20 40 60 80 100 120
APV channel
[ ADC RMS for RDO=1,ARM=0,APV=20 |}
=
g
4}
a
<
0
=
©
APV channel
[ ADC RMS for
=
g
[}
a
<
0
b3
@

i
120
APV channel




run_13059014 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA

Tue Feb 28 05:25:41 2012

[ADC for FGT RDO=1,ARM=1,APV=0 }

40
5
8}
a)
<
10
1
[ 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=1,APV=1 }

Bo?
[
%)

a)
<

1
0 1000 2000

[ADC for FGT RDO=LARM=1APV=2 }

1
3000 4000

raw ADC

B 5 5 5
202
o
a
<
10f:
k-
i i i
1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=1,APV=3 }

1000

2000

[ADC for FGT RDO=1,ARM=1,APV=4 }

3000

4000
raw ADC

0 1000 2000

3000 4000

raw ADC

[ADC for FGT RDO=1ARM=L,APV=0_}

= 4000 p—
] =
& =

Q 3500 f— - -
< =

3000 f=— - -
=

2500 f=— - -
=

2000 fm—— - -
=

1500 f=—— - -

1000 p=— - -
=
=

500 p=— - -
=
=

o=+

= i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=1 }
= 4000 p—
] = . . . . . .
5 =
8 3500 fm——- -
< =
3000 f=—— - -
2500 fm— - -
2000 f/— - -
=
1500 f=— - -
=
1000 f=— - -
=
500 f—
=
ofE—--
E_. . . i . . . i . . . i . . . i . . . i . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=2 }

= 4000 p=
] = . . . . . .
2 = 8 8 8 8 8 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
[ =
= i i i i i i
20 40 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=1,APV=3 }
= 4000 p—
] = . .
& =
Q 3500 f=— sebe TR
< =
3000 f=— CES EEN Y EEEE RS
2500 = [ R R
2000 fm— aajaadpogeaniials
=
1500 f=— St EEEE
1000 P=— - v - b e e e PR TR S EREE T
= 8
= 8
500 p=—-----feceonn afeolieadpeqlosiele
= 2
Of—----mpmran AL PR T P B
= 2
= 1
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=4 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

. s e . e

10°

10"

10°

10"

10

10°

10

10"

10




run_13059014 FGT_MPV_1,Timebin=2,Disc=2,asmb=2DA
Tue Feb 28 05:27:31 2012

[ADC MPV for RDO=1LARM=L,APV=0_}

MPV (ADC-ped)

L i i i
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=1 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=1,APV=2 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120
APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

i
<G 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=4 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel

-500




run_13059014 FGT_RMS 1, Timebin=2,Disc=2,asmb=2DA
Tue Feb 28 05:28:05 2012

[ADC RMS for RDO=1LARM=L,APV=0 J

90

80

RMS (ADC-ped)

70

60

50 E

40

30

20

10

. . . ;
0 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=1 }

50

RMS (ADC-ped)

40

30

20

10

°'I'I'H[HH|HII|IIII]11H£|_]1"'|"I

[ ADC RMS for RDO=1,ARM=1,APV=2 "}

100

RMS (ADC-ped)

APV channel

[CADC RMS for

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=4 "}

RMS (ADC-ped)

APV channel




run_13059014 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
Tue Feb 28 05:25:45 2012

[ADC for FGT RDO=1,ARM=1,APV=5 } [ ADC for FGT RDO=1,ARM=1,APV=5 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=1,APV=6 } [ ADC for FGT RDO=1,ARM=1,APV=6 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1LARM=1APV=7 } [ ADC for FGT RDO=1,ARM=1,APV=7 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=1,APV=8 } [ ADC for FGT RDO=1,ARM=1,APV=8 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=1,APV=9 } [ ADC for FGT RDO=1,ARM=1,APV=9 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=2DA

2,asmb

ISC=

imebin=2,Di
27

Tue Feb 2_8 05

run_13059014 FGT_MPV_1,T

:32 2012

TARM=1APV=5_ }

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

ARM=1,APV=6 }

=0

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

=7

ARM=1,APV:

=1

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

TARM=1APV=8_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

ARM=1,APV=9 "}

=1

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13059014 FGT_RMS 1, Timebin=2,Disc=2,asmb=2DA
Tue Feb 28 05:28:06 2012

[CADC RMS for RDO=1ARM=L1,APV=5__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=1,APV=6 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=7 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=9 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13059014 FGT_ADC_1,Timebin=2,Disc=2,asmb=2AB

Tue Feb 28 05:25:46 2012

ADC for FGT RDO=1ARM=LAPV=12 _§

ADC-ped

[ 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1ARM=1APV=13 _§

ADGped

I
3000 4000
raw ADC

1
1000 2000

[[_Apc for FoT RDO=1.ARM=1.APV=14__ ]
—

I
3000 4000
raw ADC

i i
1000 2000

[ ADC for FGT RDO=1,ARM=1,APV=15

0 1000 2000 3000 4000

raw ADC

[__ADC for FGT RDO=1,ARM=1.APV=16 _§

AD%ped

0 1000

2000 3000 4000

raw ADC

[[ADC for FGT RDO=1,ARM=LAPV=12 }
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 =
=
1500 f=——
1000 f=——
=
500 fm——
=
=
ofE—
=
0
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=13 "}
- 4000 p—
g = H H o o o
9 E e e T e B e S R P E PR R R TE SR T
< =
gD |[=—pe=q°ooo9500508s005c0000550050909055000059500p0959¢80050095005095905508H0950050595965505903500509556550990954(030950
Bl e TR e P L E T S T S PP PP
B e e e ] A P ] A PR R TP PP PP SR
=
1500 P e = = e s
=
EL Tl e B e A S R P PP PP PP PP
=
500 f=—|- - - EERREE
=
L L o T s S
=L . . i . . . i . . . i . . . i . . i . . . .
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=14 }
- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 f=—
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
=
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=1,APV=15_}
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
b=
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=1,APV=16 l
.- 4000
9 3500 L TR R T .-
<

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel




run_13059014 FGT_ MPV_1,Timebin=2,Disc=2,asmb=2AB
Tue Feb 28 05:27:32 2012

[ADC MPV for RDO=1ARM=LAPV=12_}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=13 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=16 }

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel
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run_13059014 FGT_RMS 1, Timebin=2,Disc=3,asmb=3DA
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